A. PD-L1 high versus negative

Study Hazard Ratio (95% Cl) Hazard Ratio (95% Cl)
SP142
IMpower-130 0.9810.68, 1.42] T
IMpower-131 1.07[0.75,1.52] T
IMpower-132 0.77[0.46, 1.28] -
IMpower-150 1.02[0.76, 1.37] T
Subtotal (95% Cl) 0.99[0.82,1.18], P = 0.89 ¢
22C3/28-8
CheckMate-227 0.96[0.77,1.19] L
KEYNOTE-189 1.04[0.72,1.51] T
KEYNOTE-407 1.33[0.95, 1.86] ™
Subtotal (95% Cl) 1.05[0.90, 1.24], P = 0.53 )
Total (95% Cl) 1.02[0.91,1.16], P = 0.71 ]
B. PD-L1 low versus negative
SP142
[Mpower-130 0.89[0.65, 1.22] -
IMpower-131 1.11[0.84, 1.46] ™
IMpower-132 0.8410.59, 1.20] -T
IMpower-150 0.98[0.76, 1.26] T
Subtotal (95% Cl) 0.97[0.84, 1.12], P = 0.67 [
22C3/28-8
CheckMate-227 0.91[0.73, 1.13] Rk
KEYNOTE-189 0.96 [0.65, 1.42] 1T
KEYNOTE-407 1.08[0.80, 1.45] T
Subtotal (95% Cl) 0.97[0.82, 1.13], P = 0.66 4
Total (95% CI) 0.97[0.87, 1.08], P = 0.54 §
C. PD-L1 high versus low
SP142
IMpower-110 0.971[0.75, 1.25] T
IMpower-130 1.11[0.74, 1.68] T
IMpower-131 0.97[0.70, 1.35] T
IMpower-132 0.90[0.52, 1.56] .
IMpower-150 1.03[0.74, 1.44] T
Subtotal (95% CI) 1.00 [0.85, 1.16], P = 0.95 ¢
22C3/28-8
CheckMate-227 1.06[0.87, 1.29] T
KEYNOTE-042 1.03[0.88, 1.20] *
KEYNOTE-189 1.08[0.74,1.57] T
KEYNOTE-407 1.27[0.91,1.77] I
Subtotal (95% Cl) 1.07 [0.96, 1.19], P = 0.24 )
Total (95% Cl) 1.040.95, 1.14], P = 0.36 ]
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FIGURE S2: PROGRESSION FREE SURVIVAL



